AL 63524

V Semester B.Com. Examination, April/May 2023
(CBCS) (F+R)
COMMERCE
Paper —5.4: Costing Methods

Time : 3 Hours Max. Marks : 70

Instructions : Answer should be written completely either in English or

in Kannada.

SECTION - A
PN - D

1. Answer any five sub-questions from the following each correct answer carries
two marks. (5x2=1 0)
CINTYTRTTLR R ww-@)zﬁqﬁ@ﬁ V30N, B3 337 ST 508N,

a) What is operating costing ? AN N VATAVESSS,
SEFSER CEFERY 8. :

b) What is meant by retention money 7 NN - 563 1 > /,-'_} 3/
o0 Beo ROTTERD ? - o/

c) Name any two cost units in transport costing.
ppiele dagdcsg O3 TIOTTR ST B wcd DB B0,

d) What is abnormal gain ?
STOTIT; ey 0TTERD ?

e) State any 4 industries, where process costing is applicable.
,3,080 W, VeeF D TR SYTRRTT CINTYTIOTTR JO, FOLTOF BNYRY
BROA.

P.T.O.
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f) What do you mean by escalation clause in contract ?

LBOBAYE, B3P T 0TS 2

g) Mention any four features of job costing.

VB BOR 8 DEFFTOIT ToL), LT LANIR EOR.

SECTION - B
SR -0

Answer any three of the following. Each question carries six marks. (3x6=18)

CURRYTITTR [T T[yJ e LUZoR. B8 T F i o LoFnieh.

2. Calculate economic batch quantity and number of batches from the following :

Annual consumption
Set-up cost per batch
Cost of manufacture
Rate of interest

Carrying cost

— 125000 units

= 125 \ %
- X25p.u.

- 12%

— 60 paisa per unit, per annum.

IPNIQNPOT SHF T 239,23° 00T, WIBY LI, WY ?do&iodaagt FOWOLBOAD.

WONFT WeRE

AT TR ﬁzswm;b
Q

erusawcﬁm mg&

wE, o3 (Jevwo)

Tones sﬁagd

125000 037D
dn. 125

g%, 25 B8 CIFK

12%

60 % T8 c3REH (P.A.)
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3. Explain any 3 methods of costing.

dz&;&)mroﬁamm\;ﬁ CIRTYTDWTLR TIRTV LTI, WO

4. In processing a basic raw material, three joint products X, Y and Z are

produced.

The joint expenses of manufacturing are :

Material % 5,000
Labour % 4,000
Overheads 3 4,500

13,500

-Subseguent expenses are as follows :

Parti\géﬂiaé}s X Y
®) ®)

Materials 1,000 800
Labour 1,250 700
Overhead 1,250 500
3,500 2,000

Sales value 21,000 10,000
Estimated profit on sales 50% 50%

&
®)
900
850
750
2,500
9,000

33.33%

63524

Show how you would apportion the joint costs of manufacture by reverse cost

method.
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20T VBT HOF I, TR TN, 0302, T8, C00RTON BT AT TRPF T
T, =, W2 TP erua:émﬁdo:gcﬁ. QT 25083 W VWT.

RN, T 3. 5,000
B> g. 4,000
o, gn. 4,500
13,500
Scomec Broos
QSR o 2 Soms
(ew.) (c%.) (s.)
RN, AL 1,000 800 900
B> 1,250 700 850 S
Roewosty, 1,250 500 750 f'y
3,500 2,000 2,500 \79\
SRoT LS 21,000 10,000 9,000 R
SRooed Weod BoeO3
HOTIORY Ty 50% 50% 33.38%

8TONR B30 SDF QOB VYRR TORTO TTHTFNE Tokd DWFS DYIONCTTED
BRRT L0md TEFLITY SCAROA.

5. Varsha transport company is running 3 buses between two cities which are
80 kms apart. The seating capacity of each bus is 50 passengers. The actual
passengers carried were 70% of the capacity. Each bus makes one round trip

per day. All the buses run on all the days of the month of September.

Find — what is the kms of total passengers in the month of September.
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TTF HOF TURTO WP LTI SNone Smdws LAmded. wTd Snond SEoos
@033 80 3.20¢. 50 0 F,0IRITON WRTBRTOW B3 WRONY IWW SwToTT
Be. 700), B, 03ReSBORY 80, 3.

T8 2030 B8 DI, 0RO FONE TS 2,000 23 BN WIIT. e, WROTIKL Sonte
QTR AR LRSI,

BB 000° IRTFIE, 2,83 T,03EIBT §.80¢. XKW FOTRHRROWN,

6. The following particulars relate to a certain contract carried out during the
year ended 31-3-2022.

Particulars in (%)
Work certified 42,900
Materials sent to site 19,350
Cash _received from contractee 39,000
| Labour | 16,980
b Cbntract price 60,000
Materials returned to stores 120
Materials on hand at the end 420
Direct expenditure 780
Establishment charges 975
Cost of work not yet certified 1,020
Plant installed at site 3,390
Value of the plant at the end 2,460

Prepare contract account for the year ended 31-3-2022.
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83 BFBOR WS womd MO FOIT 31/3/20220 Tk R 0T T

ROWODRT.
DTSR (SR.N¥D)
3, @eB0NT BUR 42,900
B8 LA FOTON, T 19,350
&R LeBTHOOT WIS e 39,000
B3 16,980
nognt I 60,000
YU, €98 &08TONAT TN, Metd 120
508, BT ToON, NEd 420
JeT DdoF 780
m@ﬁm UWOF 975
3, ReTORT BOR 1,020
BPTQ FOBT tipedr 3,390
03,30 TS S 2,460 (3
31/3/20228 o2 8 rodrt a5 BosndR. i"\
SECTION -C
QYN -
Answer any three questions. Each question carries 14 marks. (3x14=

QIR BT TINer LOZOR. T3 TI 1t BOTLY LTI,

7. Thanuja Co. undertook a contract for ¥ 15,00,000 on an arrangement that 80%
of the value of work done as certified by the architects of the contractee, should
be paid immediately and the remaining 20% be retained until the contract is
completed.
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In 2020, the amounts expended were; Materials ¥ 1,80,000; Wages % 1,70,000;
Carriage ¥ 6,000; Cartage ¥ 1,000; Sundry expenses X 3,000. The work was
certified for ¥ 3,75,000 and 80% of this was paid as agreed.

In 2021, the amounts expended were : Materials ¥ 2,20,000, Wages X 2,30,000,
Carriage ¥ 23,000, Cartage ¥ 2,000; Sundry expenses ¥ 4,000. Three-fourths
(%) of the contract was certified as completed by 31¢ December, 2021 and 80%
of this received accordingly. The value of work uncertified was ascertained at
¥ 20,000.

In 2022, the amounts expended were : Materials ¥ 1,26,000; Wages ¥ 1,70,000;
Cartage ¥ 6,000; Sundry expenses % 3,000, and on 30" June the whole contract

was completed.

Show how the Contract Account and also the Contractee’s Account would

";a‘ppear for each of these three years in the books of the contractor, assuming

& _;_’i-'fhat balance due to him was received on completion of the contract.

o domnc 6. 15,00,0008 1.0t roariosss Ericoieoan rhgab Laead

T80 cﬁ@eﬁaﬁod FoORT e, 806@&“53 gRESe MOEMTRTAN SN CeTTE, Towms
mwdeﬁahdaéd VYT 20% o’wm nodn Jpearnie Ja,aﬁwc?ma eru%ﬁmiw

QEIF RTINS,

202009, nod Rt MowoRAT DWOFNF; TON,NE> Se. 1,80,000, 6T 3od
g®. 1,70,000, momoedd cw. 6,000, 2ol wearn or. 1,000, |38 DBoFRvd
gw. 3,000, 33, 2e80A% do% Tw. 3,75,000 T | Be, 806&‘5% uadwoddoﬁ {gtepla
TOWEXTONT.
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202138, RERN BOLIODRT DWFTIE; TORON, N0 TR 2,20,000, 329 - 2,30,000,
mmesd - o, 28,000, WoR woar - 8e. 2,000, 933 dornied - 9. 4,000.
31 @Bowot 20218070 HTCD Yaom) FORTTY 3, @egOITONT R0 L0 T50
Be. eocmwsmsasaq mdesa:dcmd. cﬁd@eﬁaﬁd gom dn. 20,000 dc?%dagd.

202238 SBHFRES T RINTE = 02 1.26,000, 320 - G- 1,70,000, 2202 e -
5. 6,000, 23S erTEd - 9. 3,000, e 30 ToTd THET ZPEFRRORTEE.
33e0T BRLENG 30000 SR8 BRENTN nodn 593030, A nogn ERTET

s odoRy, BOBOLAND.

_ The following details are extracted from the costing records of Theju Oil Refinery . -

for the period ended 30 Sept. 2022.

|
B

b gty

Purchase of 500 tonnes of copra ¥ 8,80,000 N\
Particulars Crushing Plant Refinery Plant Finishing
Cost of labour 11,000 4,400 6,600
Electric power 2,640 1,584 15086
Sundry materials 440 8,800 -
Repairs to machinery and plant 1,232 1,462 616
Steam 2,640 1,980 1,980
Factory expenses 5,808 2,904 968

Cost of casks - — 33,000
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300 tonnes of crude oil was produced.

250 tonnes of oil was produced by refining process.

248 tonnes of refined oil was finished for delivery.

Copra sack sold ¥ 1,760.

175 tonnes of copra residue sold ¥ 48,400.

Loss in weight in crushing 25 tonnes.

45 tonnes by-product was obtained from refining process valued at X 29,700,

You are required to show the accounts in respect of each of the following stages
of manufacture for the purpose of arriving at the cost per tonne of each process

and also the total cost per tonne of finished oil.
a) ':.Q;ppra crushing process

b)ﬁeﬂnlng process

- ";{Finishing process.

ez ﬁm&gp @tﬁgﬁoﬁam 500 &3° 820 0030 TR, 8,80,000 J0eHATS &0 WTT
@:gsaocs 31/09/2022T ':3335,6‘ $UB0RE TRSoT) TEDLTNG.

DTN g aont WRFT TNTYOD

B gk  @ob
FoF B OPD 11,000 4,400 6,600
QTS T8 2,640 1,584 1,056
BBT TN, N0 440 8,800 =
c3003 R, eTTTEANY TOTY T ede 1,452 616
R 03 2,640 1,980 1,980
FOTOF R W 5,808 2,904 968

QETOOR SF - - 33,000

RS —— -
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300 &5° 8 3o T DFRTONG,. 250 L33 QEFODRY TR BT T, BRSNS,
248 &7° 8 W0TODT BoZH0T Lo,

8200 tew BRoOLHOE Te. 1,760 LOOTIB.
17565 o=, g3, 80000 em@éodaa'sgt o, 48,4008 SwowNTS.

B &0TT &8, 00DQ, ¢T3 BB 26 L.
45 1D CUT-SRNVRY 20018080 T8, 03000008 TFrbodh Nt BET #e¥ A 29,700.

- me=s me ) SO1

=b

R 8,08 VevFosd SYNVRY FOInoN, T 8 08 TOTTQ, .ot W' TR
BN s, T3 Fw e BoHY 18 L Sreos ek TII Feoro.

®) B &on® T8,08
2) 20Qe80 T3, ol ey

R) Soos0d 8,0,

9. Sandhya owns a bus which runs between Bangalore and Mysore and back for 10
days in a month. The distance between Bangalore and Mysore is 140 kms. The
bus completes one round trip each day. The bus goes for another 10 days in the
month Bangalore to Ananthpur. The distance between Bangalore and Ananthpur
is 200 kms. The bus completes one round trip each day. For the rest 4 days of
its operation in a month, it runs in the local city. The daily distance covered in the
local trip is 60 kms. Calculate the rate, the person should charge, if he wants to

earn a profit of 25% on his takings. The other details are as follows :
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Cost of the bus ¥ 6,00,000

Depreciation 15% P.A.

Salary of the driver ¥ 4,000 P.M.

Salary of the conductor ¥ 3,000 P.M.

Accountant salary ¥ 1,800 P.M.

Insurance ¥ 12,000 P.A.

Diesel consumption 5 kms. per litre costing ¥ 40 per litre
Token tax ¥ 2,500 P.A.

Lubricant oil ¥ 10 for 50 kms.

Repairs and maintenance ¥ 5,000 P.M.
\P’;rmit fee T 3,800 per 6 months

Normal capacity 50 passengers

The bus is generally occupied 80% of its capacity when it goes to Mysore and
90% incase of Ananthpur round trip. It is normally full when it runs with in the
city.

ROGR; 0% WROTW BF TTTIT) Lornvatd T FRAD IBT Sondd, T
OF WRRTYT. B3 INCNY TROIT $03T 140 3.20¢. BoeN WINPT WwoTe DITY,
TONCINTT. T0OT B DI oriseth [0y WTIYT IBT LEBIE. B3
SMoNY SROOT 03T 200 8.00¢. 83 L@ T Lot DIBE TONCINVTT, LVeTs

DM QTR WoneedIE), SN :’aomdﬁ; VT odReNTTINTS. SN agcsg\ Bog cmg
60 &.0e. mcswagt ROWOATS,
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B3 FIENT QWTNYOT B, 303RW) B, O3RETFRO T8 8.0, T, 033608 BRBIeTT TOBI,

FoTOHROWD. Be. 250, eRyoBER), BOBY, KedmeIes,

X 3P, dr. 6,00,000
Re33P Be. 15 ToxfT
WouBT Jows Sr. 4,000 Sonert
QF TS B0 Twe. 3,000 gonert
e?aaé@m@oda Towe Tw. 1,800 &onen
WOAFT w0 Sr. 12,000

R W8 De.it 5 8.4000.303 .07 De. T

tedrea® 301 Sn. 2,500 Sord
€20 B0 g T, 10 I8 50 ¢.50¢.
0%5ed 302 Xooe s de. 5,000 gortert
TQes* .65 Te. 8,800 B8 6 Sortert
WAT TR, TG, 50 T, 000essTO

°' U-e.« 40

BRROR Seen wowen e, 80T, I, C3RESFOTITYT. @603@63 een wddaen
Be. 90T, T, cdnesBOTITT. SRS B, 3D, Fe. 1008, T CARe3FOTTE.

From the following details, you are required to calculate the cost of Job No. 222

and find out the price to give a profit of 25% on selling price.

Materials cost at ¥ 15,000

Direct wages :

a) Dept. P — 400 labour hours @ ¥ 10/hour

b) Dept. Q — 180 labour hours @ ¥ 6/hour

c) Dept. R - 100 labour hours @ % 5/hour
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Overhead expenses for three departments were estimated as follows :
Variable overheads :

Dept. P — ¥ 25,000 for 1000 labour hours

Dept. Q — ¥ 10,000 for 3000 labour hours

Dept. R -~ 10,000 for 1000 labour hours

Fixed overheads are estimated at ¥ 50,000 for 5000 normal working hours.

B INT TEDMOOT B 8% Ko. 2228 dagpag TOTOLROWD Y [Roes WS,
25% ootd AT 0B 04 o awodm%t FOROLROND.

man,ne 3es da. 15,000
) T BROMED
.‘a'}'azpan’ P — 400 229 riotingd S8 notdnt . 10
b) “ezort Q - 180 829 motined =8 ol o, 6
c) Qen R — 100 829 rotdns S8 noedrion. 5

TORTO LPNRPT NekTent Sheetss Sosomass -

= 24
- -

WHEHMT Foeen ﬁasums '

2N P — 1000 309 retdnernt da. 25.000
w2791 Q — 3000 3»d retdrert d2. 10.000
«mn R — 1000 809 rodrert ©2. 10,000

Clelantove) P%Jd ﬁoewﬁagd gr. 50,000 m:ﬁr'sg FORT noedner 8r. 5,000.



63524 A4 NI

11. a) From the following particulars related to Job No. 101 ascertain the total cost

and estimated selling price.
Direct material ¥ 17,600
Direct labour X 8,000

Works overheads are recovered on the basis of 50% of prime cost and
administrative overhead 10% of works cost. A profit of 10% on total cost to

be added.

b) Madhu company manufactures a product 5000 kgs, raw materials at
<12 per kg were supplied to process-1. Labour cost amounted to ¥ 6,000 and
production overhead incurred was ¥ 3,000. The normal loss was estimated
at 5% and was sold at ¥ 3 per kg. Actual production in the process was

1860 kgs.
Prepare :

Process-1 account and ascertain the value of abnormal loss.

a) VR IR %023, 10138 39N Se&Snwor 23D, ﬁzgd ROB) L90TIVED TRTHE ISR

<

FOTROLHERCWO.
Jeg Smu TGN - dr. 17,600
363 3, 33, - Se. 8,000

plevling ﬁoeefzaaz’dwsﬁgt T, 508 BUE Be. 50003 POTONT Tone ST
ﬁaeeiwm@ .plevely ﬁagdd Be. 10003 PoRenNS. 2830, B Je. 100 wvgdzon

& X

BB,
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b) 05 FomRod LUBFHRY IodnRoIH. IS ©8,060-15¢,5,000 &.22. e,
RN, 1,07 8.23.7 o 12 803 e.ciNRERNGS. 550078 553 . 6,000,
PoFLTT Fezg de. 3,000 SNTHIT. TR, ITF e. 50 oo SRR
CT 2080 F.8.7 3002 Inooks SRBONG. Fx UBBICI0 T8 030680¢)
1,860 8.22.MY&E0Z 0. eveoms @8 03-10 23030 Beno0 B RTINS,
THE SPY,[R FomwRo0,




